3.3 Function Notation with work

Algebra 1: 3.3 Function Notation

Learning Outcomes:
> I can use function notation fo evaluate and interpret functions.

> T can use function notation to solve and graph functions.
> I can solve real-life problems using function notation.

Warm-up:
x [1 2 [3]4[5]6]7
y [6]7 [8 ]9 [10]1112

Can you find a pattern in the table? What would be the value

of y, if x were 10? 100? Describe the pattern with an equation.
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WMV riohiined )= X4
function notation: f(x) =x+5

the value of the functionat xis x+5

the value of "f" at x

o 9%
M) is simply another name for "y"/\ k('x\

Y¢ hote: the parentheses do not mean multiply \\LX.\

Linear functions: y=mx+b .. f(x)=mx+Db

2qedion — funchione
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3.3 Function Notation with work

Review from before: Now ... with function notation:
y=2x+7

Evaluate the function
Find the value of y when
X = 3.

}:Q®+ ] Or... simply, @@I

= b+ T fix
y= V> H’}\ Fe=b

f(x)=2x+7 whenx = 3.
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Example 1:  Evaluate f(x) = 2x - 7, when x = 4 and x = -4.

fw)= 1(4)77
=1\

Example 2: Let f(t) be the outside temperature (degrees F), t hours
after 10 A.M. Explain the meaning of the following:
a) f(0)=75 a)t=0:10am and the temperature is 75°

b) f(3)=n  b)t=3: 1pm and the temperature is n°
) HN>18) ¢)t=1: 11am> It is hotter at 11am
t=8:6pm~ thanat6 pm
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3.3 Function Notation with work

Example 3: For g(x) =1/3 x - 2, find the value of x for which
g(x) = -4.
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Example 4: Graph the funCtion f(X) = 3 - X. EEEEEEEEN _"
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Example 5:

S T The graph shows the number of miles a helicopter

5(5)3 7 is from its destination after’x hours on'itsfirst flight: 7(

S 300 > On its second flight, the helicopter travels 50 miles
£ 250\ farther and increases its speed by 25 miles per
o 200 hour. The function f (x) = 350 — 125x represents
§ ]gg \ the second flight, where f (x) is the number of
2 5o miles the helicopter is from its destination after x
S \ » | hours. Which flight takes less time? Explain.

012\3456x

Lours b = 3%0

—\S
M= -1
The second flight was faster, it took less than

the 3 hours of the first flight.
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3.3 Function Notation with work

3.3 pg. 125 book work
A:1,2,8-28(e), 33-38
B:1,2-30(e), 34, 37, 38
C:1,4,8,12, 14, 16, 20, 22, 28, 37

VOCAB for Ch. 3 is due tomorrow!
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